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A.APR.D.7: Mixed Operations with Rationals

1 For all values of n for which the expressions are
defined, [1 +%] . [ n+l

n2

] is equivalent to

(n+1)* 2n n’
D n’ 2) n+1 3) n+1

4) n

2 Express in simplest form:
2X 4 12 2-X

+ + .
X’ —4 x*-4x+4 x*-4 3

N 1| X+y X-y||x ¥
3 Simplify: E[H_HJ[V_;J

4 Simplify: bz(%+a+b][

. a+2b a-2b|f1 b
5 Simplify: [2a+b_2a—b](b+2ab]

6 Reduce to simplest form:
X y ‘ X2 +y2
X=y X4y | x*4+xy

— X 1=x] (. x_1-=x
7 Simplify: 1+X+ X JT[“_X— X ]

. ) 2 1 1 a+Xx a-—-x
8 Simplify: x_a+x+a—x]7[a—x_a+x]

9 Reduce the following to simplest form:

a b) (b a +a2b2—b4x 1
b aJ |a b a+b b%(a—b)
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